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Q 1: A force does not work, if it produces no motion 

	a)
True

b)
False



	Q 2: Kranti, Pusa Agarni and Pusa bold are improved varieties of _____ 

	a)
Urad bean

b)
Sunflower

c)
Chick Pea

d)
Mustard.



	Q 3: A ball is thrown up and attains a maximum height of 100 m. It is thrown upwards with a speed of 

	a)
9.8 ms-1
b)
44.2 ms-1
c)
19.69 ms-1
d)
98 ms-1


	Q 4: Acceleration due to gravity is a maximum at the _______ 

	a)
poles

b)
gravitation



	Q 5: No. of valence electrons in an element [image: image2.png]


 is : 

	a)
5

b)
1

c)
7

d)
3



	Q 6: An isotope of iodine is used for making tincture iodine, which is used as medicine. 

	a)
True

b)
False



	Q 7: Nitrosomonas changes _____ 

	a)
Ammonia to nitrate

b)
Ammonia to nitrite

c)
Nitrite to nitrate

d)
Nitrate to ammonia



	Q 8: A man–made source of air pollution is _____ 

	a)
Burning of fossil fuels

b)
Dust storm

c)
Pollen grains

d)
Forest fire



	Q 9: Relative density has no unit. 

	a)
True

b)
False



	Q 10: Potential energy of a person is minimum when: 

	a)
person is standing

b)
person is sitting in a chair

c)
person is sitting on the ground

d)
person is lying on the ground



	Q 11: An iron sphere of mass 30 kg has the same diameter as an aluminium sphere whose mass is 10.5 kg. The spheres are dropped simultaneously from a cliff. When they are 10 m from the ground, they have the same 

	a)
acceleration

b)
momentum

c)
potential energy

d)
kinetic energy



	Q 12: Give two examples of prokaryotic cell. 

	Q 13: What does speedometer of a bus or a car measure?

	Q 14: How can you find the distance travelled by body in uniform motion from the velocity time graph? 

	Q 15: Give one example of hemichordata, urochordata and cephalochordata. 

	Q 16: Is velocity a scalar or a vector quantity? 

	Q 17: What is monera ? 

	Q 18: A batsman hits a cricket ball which then rolls on a level ground. After covering a short distance, the ball comes to rest. The ball slows to a stop because, 
a) the batsman did not hit the ball hard enough.
b) velocity is proportional to the force exerted on the ball.
c) there is a force on the ball opposing the motion.
d) there is no unbalanced force on the ball, so the ball would want to come to rest. 

	Q 19: Which type of connective tissue has fibreless matrix ? 

	Q 20: Which tissue protects the entire body ?

	Q 21: Out of the three sub-atomic particles know, which is called universal particle ? 

	Q 22: An elements Z forms an oxide with formula Z2O3. What is its valency ? 

	Q 23: Which law of chemical combination deals with the composition of compound? 

	Q 24: What is chemical characteristic of fungal cell wall ? 

	Q 25: How many cows can be impregnated from a semen of single bull ? 

	Q 26: Define inland fishery. 

	Q 27: Name the most efficient converter of low fibre food stuff into highly nutritious animal protein food. 

	Q 28: Name two exotic breeds of hen which have successfully acclimatised in India. 

	Q 29: Name the toxin released by tuberculosis bacteria. 

	Q 30: Who were awarded Nobel Prize for discovery of treatment for peptic ulcers ? 

	Q 31: A pair of bullocks exerts a force of 140 N on a plough. The field being ploughed is 15 m  long. How much work is done in ploughing the length of the field? 

	Q 32: Name at least six forms of energy. 

	Q 33: A man at the top of a tower throws an object horizontally whereas he simply drops another. Will these two objects reach the earth at the same time? 

	Q 34: A rubber band changes its shape when stretched. Can it be regarded as solid ? 

	Q 35: Distinguish between : Liquid state and gaseous state. 

	Q 36: To make a saturated solution, 36 g of sodium chloride is dissolved in 100 g of water at 293 K. Find its concentration at this temperature. 

	Q 37: Calculate the number of moles of iron in a sample containing 1022 atoms of iron. 

	Q 38: The velocity of a car is 18 ms-1. Express this velocity in kmh-1. 

	Q 39: Using a horizontal force of 200 N, we intend to move a wooden cabinet across a floor at a constant velocity. What is the friction force that will be exerted on the cabinet? 

	Q 40: The average time taken by a normal person to react to an emergency is one fifteenth of a second and is called the 'reaction time'. If a bus is moving with a velocity of 60 kmh-1 and its driver sees a child running across the road, how much distance would the bus had moved before he could press the brakes? The reaction time of the people increases when they are intoxicated. How much distance had the bus moved if the reaction time of the driver were 1/2 s under the influence of alcohol? 

	Q 41: All buses and cars these days are fitted with a speedometer, which shows the velocity of the vehicle. A device called odometer records the distance moved by the vehicle. If the reading on the odometer of a vehicle in the beginning of a trip and after 40 minutes were 1048 km and 1096 km respectively, calculate its average velocity. Will the reading on the speedometer show this velocity when the vehicle is moving? 

	Q 42: The following observations were taken while determining the relative density of a liquid.
Weight of the solid in air = 0.100 kgf
Weight of the solid in liquid = 0.080 kgf
Weight of the solid in water = 0.075 kgf
Calculate:
i) the apparent loss in weight of solid in liquid
ii) the apparent loss in weight of solid in water and
iii) the relative density of the liquid. 

	Q 43: A crane pull up a car weighing 500 kg to a vertical height of 4 m. Calculate the work done by the crane. 

	Q 44: Give reason :  An iron nail sinks in water, but a ship made of iron floats. 

	Q 45: What precautions would you take in your school to reduce incidence of infectious disease ? 

	Q 46: A certain force exerted for 1.2 s raises the speed of an object from 1.8 ms-1 to 4.2 ms-1. Later the same force is applied for 2 s. How much does the speed change in 2 s? 

	Q 47: What is the difference between broilers and layers and in their management. 

	Q 48: The melting point of a solid when determined experimentally comes out to be 160o C. But its actual melting point is 150oC. Predict the nature of the solid. 

	Q 49: Two gases ammonia and hydrogen chloride present in separate tubes are mixed together. Have they resulted in a mixture ?  

	Q 50: The composition of two atomic particles is given : 

X

Y

Protons

8

8

Neutrons

8

9

Electrons

8

8

(i) What is the mass number of X ?
(ii) What is the mass number of Y ?
(iii) What is the relation between X and Y ?
(iv) Which element/elements do they represent ? 
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